Argparse iE

At 3.12.0a0

Guido van Rossum and the Python development team

+ A 24, 2022

Python Software Foundation
Email: docs@python.org

Contents
1 fl2 2
2 JLhh 2
3 (ESENA 3
4 WESBHH 4
41 KEBRIT ... 6
5 ZinfrESBRTESE 6
i R 2 AN (S 8 10
6.1 Specifying ambiguous arguments . . . . . . . ... oL e i e e e e e e e e e e e e 11
6.2 TPIEWIIEIL . . o o 11
7 Jaid 12

% Tshepang Mbambo
XA ETENEN argparse AT, HWALHUZE Python SRt HERF ) A 1 TREATIRIH .

Tk A TP BEERAT LSS AR AL S, Ol getopt (MY T CIEF Y getopt () &%) HIHY
K optparse. MR argparse jg kT optparse #Y, HIHIES HARF ML




1 #§t=
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$ 1s

cpython devguide prog.py pypy rm-unused-function.patch

$ 1ls pypy

ctypes_configure demo dotviewer include 1lib_pypy lib-python ...
$ 1s -1

total 20

drwxr-xr-x 19 wena wena 4096 Feb 18 18:51 cpython

drwxr-xr-x 4 wena wena 4096 Feb 8 12:04 devguide

-rwxr-xr—-x 1 wena wena 535 Feb 19 00:05 prog.py

drwxr-xr-x 14 wena wena 4096 Feb 7 00:59 pypy

-rw-r—-—-r—-— 1 wena wena 741 Feb 18 01:01 rm-unused-function.patch
$ 1s —-help

Usage: 1ls [OPTION]... [FILE]...

List information about the FILEs (the current directory by default).
Sort entries alphabetically if none of -cftuvSUX nor —--sort is specified.
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import argparse
parser = argparse.ArgumentParser ()
parser.parse_args ()
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$ python3 prog.py
$ python3 prog.py —--help
usage: prog.py [—h]

options:
-h, —--help show this help message and exit
$ python3 prog.py —--verbose
usage: prog.py [—h]
prog.py: error: unrecognized arguments: —--verbose
$ python3 prog.py foo
usage: prog.py [—h]
prog.py: error: unrecognized arguments: foo
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import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("echo™)

args = parser.parse_args ()

print (args.echo)
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$ python3 prog.py

usage: prog.py [—-h] echo

prog.py: error: the following arguments are required: echo
$ python3 prog.py —--help

usage: prog.py [—-h] echo

positional arguments:

echo
options:
-h, —-—-help show this help message and exit
$ python3 prog.py foo
foo
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e The parse_args () method actually returns some data from the options specified, in this case, echo.
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("echo", help="echo the string you use here")
args = parser.parse_args ()

print (args.echo)
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$ python3 prog.py -h
usage: prog.py [—-h] echo
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positional arguments:

echo echo the string you use here
options:
-h, —--help show this help message and exit
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number")
args = parser.parse_args()

print (args.square**2)
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$ python3 prog.py 4
Traceback (most recent call last):
File "prog.py", line 5, in <module>
print (args.square**2)
TypeError: unsupported operand type(s) for ** or pow(): 'str' and 'int'
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number",
type=int)

args = parser.parse_args ()

print (args.square**2)
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$ python3 prog.py 4

16

$ python3 prog.py four

usage: prog.py [—-h] square

prog.py: error: argument square: invalid int value: 'four'
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("--verbosity", help="increase output verbosity")
args = parser.parse_args ()
if args.verbosity:
print ("verbosity turned on")
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$ python3 prog.py —--verbosity 1
verbosity turned on

$ python3 prog.py

$ python3 prog.py —--help

usage: prog.py [-h] [--verbosity VERBOSITY]
options:
-h, —-help show this help message and exit

—--verbosity VERBOSITY
increase output verbosity
$ python3 prog.py —-verbosity

usage: prog.py [-h] [--verbosity VERBOSITY]
prog.py: error: argument —--verbosity: expected one argument
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("--verbose", help="increase output verbosity",
action="store true™)
args = parser.parse_args ()
if args.verbose:
print ("verbosity turned on")

Al i -

$ python3 prog.py —--verbose

verbosity turned on

$ python3 prog.py —--verbose 1

usage: prog.py [-h] [-—-verbose]

prog.py: error: unrecognized arguments: 1
$ python3 prog.py --help

usage: prog.py [-h] [-—-verbose]

options:
-h, —-—-help show this help message and exit
—--verbose increase output verbosity
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("-v", "--verbose", help="increase output verbosity",
action="store true™)
args = parser.parse_args ()
if args.verbose:
print ("verbosity turned on")

ORI

$ python3 prog.py -v
verbosity turned on

$ python3 prog.py —--help
usage: prog.py [-h] [-V]

options:
-h, --help show this help message and exit
-v, ——-verbose increase output verbosity
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbose", action="store_ true",
help="increase output verbosity")
args = parser.parse_args ()
answer = args.square**2
if args.verbose:
print (f"the square of {args.square}! equals {answer /")
else:
print (answer)
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$ python3 prog.py

usage: prog.py [~-h] [-v] square

prog.py: error: the following arguments are required: square
$ python3 prog.py 4

16

$ python3 prog.py 4 --verbose

the square of 4 equals 16

$ python3 prog.py —--verbose 4

the square of 4 equals 16
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", type=int,
help="display a square of a given number")

parser.add_argument ("-v", "--verbosity", type=int,
help="increase output verbosity")

args = parser.parse_args()

answer = args.square**2

if args.verbosity == 2:

print (f"the square of {args.square/ equals {answer ")
elif args.verbosity == 1:

print (f"{args.square "2 == {answer ")
else:

print (answer)

% -

$ python3 prog.py 4

16

$ python3 prog.py 4 -v

usage: prog.py [-h] [-v VERBOSITY] square
prog.py: error: argument -v/--verbosity: expected one argument
$ python3 prog.py 4 -v 1

472 == 16

$ python3 prog.py 4 -v 2

the square of 4 equals 16

$ python3 prog.py 4 -v 3

16
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", type=int, choices=[0, 1, 2],
help="increase output verbosity")
args = parser.parse_args()
answer = args.square**2
if args.verbosity ==
print (f"the square of {args.square/ equals {answer ")
elif args.verbosity == 1:
print (f"{args.square "2 == {answer '")
else:
print (answer)

% -

$ python3 prog.py 4 -v 3

usage: prog.py [-h] [-v {0,1,2}] square

prog.py: error: argument -v/--verbosity: invalid choice: 3 (choose from 0, 1, 2)
$ python3 prog.py 4 -h

usage: prog.py [-h] [-v {0,1,2}] square

positional arguments:

square display a square of a given number
options:
-h, --help show this help message and exit

-v {0,1,2}, --verbosity {0,1,2}
increase output verbosity
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import argparse
parser = argparse.ArgumentParser ()

parser.add_argument ("square", type=int,
help="display the square of a given number")
parser.add_argument ("-v", "--verbosity", action="count",

help="increase output verbosity")

args = parser.parse_args ()
answer = args.square**2
if args.verbosity ==

print (f"the square of {args.square} equals {answer}")
elif args.verbosity == 1:

print (f"{args.square "2 == {answer '")
else:

print (answer)

FATFIAT F—FhshfE count”, SRGETIAHRE LI H B KL

$ python3 prog.py 4

16
$ python3 prog.py 4 -v
472 == 16

$ python3 prog.py 4 -vv

the square of 4 equals 16

$ python3 prog.py 4 —--verbosity —--verbosity
the square of 4 equals 16

$ python3 prog.py 4 -v 1

usage: prog.py [-h] [-Vv] square

prog.py: error: unrecognized arguments: 1

$ python3 prog.py 4 -h

usage: prog.py [-h] [-Vv] square

positional arguments:

square display a square of a given number
options:
-h, —--help show this help message and exit
-v, —-verbosity increase output verbosity
$ python3 prog.py 4 —-vvv
16
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import argparse
parser = argparse.ArgumentParser ()

(R gkzk)




(£ L£50)

parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", action="count",
help="increase output verbosity")
args = parser.parse_args ()
answer = args.square**2

# bugfix: replace == with >=
if args.verbosity >= 2:
print (f"the square of {args.square} equals {answer /")
elif args.verbosity >= 1:
print (£f" {args.square "2 == {answer /")
else:
print (answer)

XA :

$ python3 prog.py 4 —-vvv
the square of 4 equals 16
$ python3 prog.py 4 —-vvvv
the square of 4 equals 16
$ python3 prog.py 4
Traceback (most recent call last):

File "prog.py", line 11, in <module>

if args.verbosity >= 2:

TypeError: '>=' not supported between instances of 'NoneType' and 'int'

o AR, B85 T2 BN bug. WREEDE, TR >=2 MR AR
o BB =B AN BRAR
LEFATEE A bug:

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")

parser.add_argument ("-v", "--verbosity", action="count", default=0,
help="increase output verbosity")

args = parser.parse_args()

answer = args.square**2

if args.verbosity >= 2:

print (f"the square of {args.square/ equals {answer ")
elif args.verbosity >= 1:

print (£" {args.square /"2 == {answer /")
else:

print (answer)

FATHIRIG AT X—F0) R default. AEE B E N 0 RibE n PAS HAWVBEEM A LR . 2
f, BROATE O AR — eSS E AR, ERES 2 None, I HEABRAIEEEM LR (BTeAr™
H T TypeError 5#).
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$ python3 prog.py 4
16
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base™)
parser.add_argument ("y", type=int, help="the exponent")
parser.add_argument ("-v", "--verbosity", action="count", default=0)
args = parser.parse_args ()
answer = args.x**args.y
if args.verbosity >= 2:

print (f"{args.x/} to the power {args.y} equals {answer /")
elif args.verbosity >= 1:

print (f"{args.x /" {args.y ) == {answer /")
else:

print (answer)

i -

$ python3 prog.py

usage: prog.py [-h] [-V] x ¥y

prog.py: error: the following arguments are required: x, y
$ python3 prog.py -h

usage: prog.py [-h] [-V] x ¥y

positional arguments:

X the base
y the exponent
options:
-h, —-help show this help message and exit
-v, ——-verbosity
$ python3 prog.py 4 2 -v
472 == 16

RS H B IERAT— B PEA AR £ o i @i SO . PR R BN AR o 2
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import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")

parser.add_argument ("-v", "--verbosity", action="count", default=0)
args = parser.parse_args ()
answer = args.x**args.y
if args.verbosity >= 2:
print (f"Running '{__file__}'")
if args.verbosity >= 1:
print (f"{args.x/"{args.y} == ", end="")

print (answer)

i

$ python3 prog.py 4 2

16
$ python3 prog.py 4 2 -v
472 == 16

$ python3 prog.py 4 2 -vv
Running 'prog.py'
472 == 16
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6.1 Specifying ambiguous arguments

When there is ambiguity in deciding whether an argument is positional or for an argument, —— can be used to tell
parse_args () that everything after that is a positional argument:

>>> parser = argparse.ArgumentParser (prog='PROG'")
>>> parser.add_argument ('-n', nargs='+")
>>> parser.add_argument ('args', nargs='*")

>>> # ambiguous, SO parse_args assumes it's an option

>>> parser.parse_args(['-f'])

usage: PROG [-h] [-n N [N ...]] [args ...]
PROG: error: unrecognized arguments: —-f
>>> parser.parse_args(['—--", '-f'])
Namespace (args=["'-f'], n=None)

>>> # ambiguous, so the -n option greedily accepts arguments

>>> parser.parse_args(['-n', "1', '2', '3'])
Namespace (args=[], n=["'1", '2', '3'])

>>> parser.parse_args(['-n', '1', '-—=', '2', '3'])
Namespace (args=['2"', '3'], n=["1"'])

6.2 FEHIIEIR

FHHIMIE, AT —EHAEMLH argparse . ArgumentParser LB N E. IERITENEHE =D
¥ add_mutually_exclusive_group (). B ARFRATEE M MA B2 i, iEFATH 3 e ¢
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import argparse

parser = argparse.ArgumentParser ()

group = parser.add_mutually_exclusive_group ()
group.add_argument ("-v", "--verbose", action="store_true")
group.add_argument ("-g", "--quiet", action="store_true™)
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
args = parser.parse_args()

answer = args.x**args.y

if args.quiet:

print (answer)
elif args.verbose:

print (f"{args.x/} to the power {args.y/) equals {answer /")
else:

print (f"{args.x /" {args.y ) == {answer /")

AR B RF Efa 1, AT THORTH RIS L T —L8Ihfe. TR nfT, il X ren:

$ python3 prog.py 4 2

472 == 16
$ python3 prog.py 4 2 —qg
16

$ python3 prog.py 4 2 -v

4 to the power 2 equals 16

$ python3 prog.py 4 2 -vqgq

usage: prog.py [~-h] [-v | -g] x ¥y

prog.py: error: argument -qg/--quiet: not allowed with argument -v/--verbose
$ python3 prog.py 4 2 -v —--quiet

Q)
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usage: prog.py [~h] [-v | -g] x ¥y
prog.py: error: argument —-g/--quiet: not allowed with argument -v/--verbose
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import argparse

parser = argparse.ArgumentParser (description="calculate X to the power of Y")
group = parser.add_mutually_exclusive_group ()

group.add_argument ("-v", "--verbose", action="store_true")
group.add_argument ("-g", "--quiet", action="store_ true™)
parser.add_argument ("x", type=int, help="the base")

parser.add_argument ("y", type=int, help="the exponent")

args = parser.parse_args()

answer = args.x**args.y

if args.quiet:

print (answer)
elif args.verbose:

print ("¢ to the power {} equals {}".format (args.x, args.y, answer))
else:

print ("{}*{} == {}".format (args.x, args.y, answer))

R B AP EMMNZER. B (-v | —q), ENEBRRERATTAER —v 5% -, HEAEER
el FH P

$ python3 prog.py —--help
usage: prog.py [-h] [-v | -9] x vy

calculate X to the power of Y

positional arguments:

X the base
y the exponent
options:
-h, --help show this help message and exit
-v, ——-verbose

-g, ——quiet

7 i
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